MAIRCY

MARCY CLUB BENCH
WITH PREACHER CURL
MKB-4873

IMPORTANT: Please read the Important Safety Notice and Assembly
Information in the Owner’s manual before assembling this product.

Assembly Manual
1706065




o o

Ax1  @x4 02X1

O©IMPEX INC. 1 WWW.marcypro.com



Q< T (P AL

#31 M10 x 2% Carriage Bolt (Qty4) #32 M10 x 2%" Carriage Bolt (Qty2)

o

#33 M8 x” Carriage Bolt (Qty7) #34 M6 x 1% Carriage Bolt (Qty4)

#35 M6 x 13" Carriage Bolt (Qty4)

#37 M10 x 5%" Carriage Bolt (Qty1)

Q)

#38 M10 Aircraft Nut (Qty8) #39 @ 10 Washer(Qty10)
© © F T
#40 08 Washer(Qty7) #41 @6 Washer(Qty8)

5# 6# Allen Wrench (Qty 1)

[ 2 3 4 5 6 7 8 9 10 1 12 13 14 15 16 17 18 19 20 21 @2

0 1 2 3 4 5 6 7 8’

O©IMPEX INC. 2 WWW.marcypro.com



O©IMPEX INC. 3 WWW.marcypro.com



{

O©IMPEX INC. 4 WWW.marcypro.com



WWW.marcypro.com

©IMPEX INC.



WWW.marcypro.com

©IMPEX INC.



WWW.marcypro.com

©IMPEX INC.



WWW.marcypro.com

©IMPEX INC.



©IMPEX INC.



10



O©IMPEX INC. 11 WWW.marcypro.com



IMPEX® INC.

2801 South Towne Avenue, Pomona, California 91766
Tel: (800) 999-8899 Fax: (626) 961-9966
WWW.marcypro.com
support@impex-fitness.com

O©IMPEX INC. 12 WWW.marcypro.com



http://www.impex-fitness.com/�

	IMPORTANT: Please read the Important Safety Notice and Assembly Information in the Owner’s manual before assembling this product.

